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fo-a na Ve section

1) A boy at O throws a ball in the air with a speed v, at an angle 0,. If he then throws
another ball at the same speed v, at an angle 0, < 0,, determine the time between the

throws so the balls collide in mid air at B.




#a-ana Ve section

2) The two particles A and B start at the origin O and travel in opposite directions along
the circular path constant speeds v, = 0.7 m/s and v; = 1.5 m/s, respectively.
Determine the time when they collide and the magnitude of the acceleration of B just

before this happens.
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#e-ana sid section

3) The searchlight casts a spot of light along the face of a wall that is located 100 m
from the searchlight. Determine the magnitudes of the velocity and acceleration at
which the spot appears to travel across the wall at the instant © = 45°. The searchlight
is rotating at a constant rate of @ = 4 rad/s.
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Bo-d na IWa section

4) The crane is used to hoist the load. If the motors at A and B are drawing in the cable
at a speed of 0.6 m/s and 1.2 m/s, respectively, determine the speed of the load.




fo-ana TWd section

5) The mechanism is used to convert the constant circular motion ® of rod AB into
translating motion of rod CD. Determine the velocity and acceleration of CD for any
angle O of AB.




